Error identification

From the marked areas A, B, C and D, identify the one that is wrong, correct

it.

1;

The reasons (A) that (B) told to the Principal (C) might not (D) be the true ones.

{A) I'm a simple person who (B) cares little (C) for the (D) luxuriously things in life.

The (A) round-face man who (B) came to our house (C) is our uncle (D) from India.

(A) Don't worry. I (B) think they will (C) agree on what we have (D) to say.

Unity is (A) hardly to achieve (B) in a multi-racial country (C) like ours, therefore we have to be very

(D) tolerant of differences.

The entire town (A) consist of not (B) more than two hundred families, (C) many of whom are

(D) related.

They (A) can't succeed and they (B) doesn't want (C) to admit defeat so they (D) take an aggressive

attitude.

The modern husband (A) is frequently (B) requires to lend a hand (C) in domestic chores such as

sweeping, mopping (D) and child-minding.

Fares will be (A) refunded back provided cancellations (B) are done not (C) less than twenty-four

hours before (D) scheduled departures.

(A) In the moment I'm afraid I (B) cannot supply you with any (C) more paper clips but I
(D) expect new stock at the end of the month.
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